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POWERS

1. Express each of the following as a rational

number of the form %: ()53 (i) ( — 2)_5


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EpsrXmPeo0Ab

(AN -2\t 1
(iii) (5) ('V)(T) (V)F

° Watch Video Solution

2. Express each of the rational number of the

g\ 2 4\ 3
formE (I)(S) (“)(g)

o Watch Video Solution

3. Express each of the rational number of the

9\ —4 _\?
formE (I)( . ) (“)(T)

| e |



https://dl.doubtnut.com/l/_EpsrXmPeo0Ab
https://dl.doubtnut.com/l/_2bXPV0mZRQkw
https://dl.doubtnut.com/l/_8z3LwRvXZdn9

[ & Watch Video Solution I

4. Express each of the following as power of a

rational number with positive exponent :

1\ 3
(Z) (ii) 573 x 56 (c)

)2

o Watch Video Solution

1
5. Simplify: (271 +5°1)" x (T)

o Watch Video Solution



https://dl.doubtnut.com/l/_8z3LwRvXZdn9
https://dl.doubtnut.com/l/_F9S9vGVtfZ1y
https://dl.doubtnut.com/l/_Dvf5IIzeq2tj

6. Simplify :

(5 1x 37 1) 167!

° Watch Video Solution

5\ 1
7. Simplify : (4_1 + 871 + (§>

o Watch Video Solution

s (3) + (3) +(3)


https://dl.doubtnut.com/l/_Dvf5IIzeq2tj
https://dl.doubtnut.com/l/_RIlWTtxUeGAT
https://dl.doubtnut.com/l/_V74sFWnO3lwt
https://dl.doubtnut.com/l/_5vaujAeLWReS

° Watch Video Solution

1y !
9.Simp|ify:{61—|— (%) }

o Watch Video Solution

10. Express each of the following as a rational
p

number of the form —:
q

M2 +3 Y

2

(i) (27" —471)

l o Watch Video Solution



https://dl.doubtnut.com/l/_5vaujAeLWReS
https://dl.doubtnut.com/l/_UH2PoAW9tzpz
https://dl.doubtnut.com/l/_EgGiQzBFdHIL

1. By what number should ( — 8)_1 be
multiplied so that the product may be equal

to101?

° Watch Video Solution

12. By what number should (—24)_1 be

divided so that the quotient may be 31 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_EgGiQzBFdHIL
https://dl.doubtnut.com/l/_nH9XXXJSoQKH
https://dl.doubtnut.com/l/_kvsZ3CKpqP7U
https://dl.doubtnut.com/l/_22lmtxY5jYGT

13. Express each of the following as a rational
number of the form g, where p and q are
integers and ¢ # 0:

()23

Watch Video Solution

O



https://dl.doubtnut.com/l/_22lmtxY5jYGT

14. Find the values of each of the following :
(B3 ' 4+47"
(i) (3" +471) x 2°

iy(3 '+ 41 451"

w{®H - @)

o Watch Video Solution

15. Find the values of each of the following :
1\ ' 1\ ' 1\ '
o(z) ~(5) + ()
1) ~° 1\ ? (1)’
i(z) +(5) +(5)


https://dl.doubtnut.com/l/_0jVJFS9ZluMP
https://dl.doubtnut.com/l/_hUtlnLp07dtv

° Watch Video Solution

16. Find the values of each of the following :
(27! x 471) + 22

() (571 x 271 +6!

° Watch Video Solution

17. Simplify :
(4 x 371)°

iy (571 = 6°1)°


https://dl.doubtnut.com/l/_hUtlnLp07dtv
https://dl.doubtnut.com/l/_1xGzX9zmPmrW
https://dl.doubtnut.com/l/_rPOlYydtmWuy

(2~ + 371)

-1

(iv) (37" x 471) " x 571

° Watch Video Solution

18. Simplify :
3
()(3% +2%) x (%)
-3
(i) (3% — 2%) x (%)

o Watch Video Solution



https://dl.doubtnut.com/l/_rPOlYydtmWuy
https://dl.doubtnut.com/l/_chf7qBFfOElL

(6@

2
(i(2* + 82 —4%) + (;)

o Watch Video Solution

20. By what number should 5~ 'be multiplied

so that the product may be equal to

(=777

o Watch Video Solution



https://dl.doubtnut.com/l/_t1WWpJS7Tad6
https://dl.doubtnut.com/l/_s3Jr8x9DUUyK

~1
1
21. By what number should (§> be

multiplied so that the product may be equal

o Watch Video Solution

22. By what number should (15) ~" be divided

so that the quotient may be equal to

(=577

o Watch Video Solution



https://dl.doubtnut.com/l/_V9C5S4ekjmzM
https://dl.doubtnut.com/l/_is7rKcFblCUv
https://dl.doubtnut.com/l/_SklR2JXB9pYD

23. Using the laws exponents, simplify each of

the following and express in exponential form

()37 x 372
(i)2- 7+ 273
(i) (5%)

(V)2 3x (—=7)"°

3-5
(V) F

o Watch Video Solution



https://dl.doubtnut.com/l/_SklR2JXB9pYD

24. Using the laws of exponents simplify and
express each of the exponential form with

positive exponent : ( — 4)4 < (—4) ~10

o Watch Video Solution

25. Using the laws of exponents simplify and
express each of the exponential form with

positive exponent : 27 ° + 27

o Watch Video Solution



https://dl.doubtnut.com/l/_B2Nk2kiyjrvN
https://dl.doubtnut.com/l/_1RICFTwYTAgc
https://dl.doubtnut.com/l/_m1TtSnNLzhdL

26. Using the laws of exponents simplify and
express each of the exponential form with

positive exponent : 374 x274

o Watch Video Solution

27. Using the laws of exponents simplify and

express each of the exponential form with

2
1
positive exponent : (—)
23

° Watch Video Solution



https://dl.doubtnut.com/l/_m1TtSnNLzhdL
https://dl.doubtnut.com/l/_T2m1LrscSiNY
https://dl.doubtnut.com/l/_5Dh0tYq0krb2

28. Using the laws of exponents simplify and
express each of the exponential form with

positive exponent : (3_7 - 3_10) x 37°

° Watch Video Solution

29. Using the laws of exponents simplify and

express each of the exponential form with

5

4
positive exponent : ( — 3)4 X (5)

o Watch Video Solution



https://dl.doubtnut.com/l/_5Dh0tYq0krb2
https://dl.doubtnut.com/l/_xLGpxSkMMwac
https://dl.doubtnut.com/l/_4i93JpQxnvaZ

30. Simplify and write the answer in the
exponential form : (i)(25+28)5 x 272 (ii)

(—4)°x (5)° x ( —5)3(iii)% x 373

o Watch Video Solution

31. Simplify each of the following

1

{(;2)2}2] | o
) -6G) @)

o Watch Video Solution

N\

\



https://dl.doubtnut.com/l/_4i93JpQxnvaZ
https://dl.doubtnut.com/l/_sa1FgJRFev99
https://dl.doubtnut.com/l/_jLEbzGAq4Jzd

s 0f) <) o
(5) ~6) @) +(G)
0f2) (3

° Watch Video Solution

871 x (5)°

38—

° Watch Video Solution



https://dl.doubtnut.com/l/_jLEbzGAq4Jzd
https://dl.doubtnut.com/l/_aJ8WxChQnJ9r

2 —4
34. Simplify > X a (i)
573 x 10 x a8
37° x 107° x 125

577 x 67°

o Watch Video Solution

35. By what number should( —4) % be
multiplied so that the product may be equal

to 1027

o Watch Video Solution



https://dl.doubtnut.com/l/_wKnp4Yr8r9jz
https://dl.doubtnut.com/l/_8wcAdRgZOjAl

36. By what number should (—12)"' be

~1
2
divided so that the quotient mat be (g) ?

o Watch Video Solution

—3\ 3
37. By what number should (T) be

—2
4
divided so that the quotient may be (2—7)

?

o Watch Video Solution



https://dl.doubtnut.com/l/_sHlBPDmv0ULR
https://dl.doubtnut.com/l/_psbcnSK5gZTL

38. Find T SO that
5 —5 BN\ 11 5 8z
— X — = | —
3 3 3
o Watch Video Solution
39. Find m SO that

G- - {®

o Watch Video Solution



https://dl.doubtnut.com/l/_UytnVdiLy9UA
https://dl.doubtnut.com/l/_TY9wrv18wluY

3\ 2\ *
40.If x = (E) X (g) , find the value

of z 2.

o Watch Video Solution

41. Write each of the following in exponential

() z) - :(3)11 (Z’):
o) < () < (5)

° Watch Video Solution



https://dl.doubtnut.com/l/_hBRqqWX0DVGQ
https://dl.doubtnut.com/l/_IW48Qqp48G2t

~1
42. Evaluate : (i)5 2 (ii) (— 3) —2 (iii)(%)

1\ !

° Watch Video Solution

43. Express each of the following as a rational

number in the form %: )61 (i) (— 7)_1

(iii) (%)_1 (iv)( —4) " x (_73)_1 (v)
() ~()

o Watch Video Solution



https://dl.doubtnut.com/l/_XgicGuHy4Fmv
https://dl.doubtnut.com/l/_5t1t2YwWiaEc

a4, simplify: ({41 x 371} i)
(51671 G2+ 37T (i)
{(371x 41} x5! (v)

(471 =51 +37!

° Watch Video Solution

45. Express each of the following rational

3
1
numbers with a negative exponent : (i) (Z)

o (@) () }o{®))

l O Watch Video Solution l



https://dl.doubtnut.com/l/_WeXfd0hpNIH0
https://dl.doubtnut.com/l/_kGNTQyH3past

46. Express each of the following rational

. . 3\ °
numbers with a postive exponent : 1

(i) (%) :(iii) Lz 47 {(g) 3}4 (v)
&)

o Watch Video Solution



https://dl.doubtnut.com/l/_kGNTQyH3past
https://dl.doubtnut.com/l/_djuDGWGuQQoP
https://dl.doubtnut.com/l/_1Pf53MCKwlT8



https://dl.doubtnut.com/l/_1Pf53MCKwlT8
https://dl.doubtnut.com/l/_bqNED8QAQ6Rd

(CINE
(@)} (3) =oee

o Watch Video Solution



https://dl.doubtnut.com/l/_bqNED8QAQ6Rd
https://dl.doubtnut.com/l/_wHAlwmj32Cwl

N\
w| o
N~
N
N——
8
N\
| =
N
|
N

8
o
L

8
(@)
L

o Watch Video Solution

50. Simplify:

(-0

o Watch Video Solution



https://dl.doubtnut.com/l/_wHAlwmj32Cwl
https://dl.doubtnut.com/l/_4fYFc1ekeNCk

51. Simplify:

G) () 6

o Watch Video Solution

52, Simplify: { (%) - < (- 4)1}

o Watch Video Solution

-1

o [[ (1))


https://dl.doubtnut.com/l/_XjKUOyz6t695
https://dl.doubtnut.com/l/_PU4dgqV8wCux
https://dl.doubtnut.com/l/_26c4JtRSBWd1

° Watch Video Solution

54.

(GIRORIETS

Simplify:

o Watch Video Solution

55. By what number should 5~ 'be multiplied

so that product may be equal to ( — 7) ~h9

o Watch Video Solution



https://dl.doubtnut.com/l/_26c4JtRSBWd1
https://dl.doubtnut.com/l/_XOuserwCNamE
https://dl.doubtnut.com/l/_CEVJaOOA1XWb

~1
1
56. By what number should (5) be

multiplied so that product may be equal to

o Watch Video Solution

57. By what number should (15) ~' be divided

so that the quotient may be equal to

(=577

o Watch Video Solution



https://dl.doubtnut.com/l/_fJdlIUglI5UR
https://dl.doubtnut.com/l/_Mv82UDvdkoGc
https://dl.doubtnut.com/l/_8mLoMkkjFmcj

—2
58. By what number should (g) be

multiplied so that the product may be

@)

° Watch Video Solution

59. Find T . if
1\ 4 1\ 8 1\ 4
) <) -G

° Watch Video Solution



https://dl.doubtnut.com/l/_8mLoMkkjFmcj
https://dl.doubtnut.com/l/_pHhHwHt7ICen

60. Find T , if
4 —19; S1\® /o1 @
2 L2 /) \ 2

o Watch Video Solution

3 -3 3 5) 3 2z +1

° Watch Video Solution

-3 15 2+ 3z
62. Find z, if E X E — E
5) 5 5

| €8 |



https://dl.doubtnut.com/l/_lr7t16oQSbYK
https://dl.doubtnut.com/l/_CNn1a0EcJetd
https://dl.doubtnut.com/l/_um6C58wz9XrG

| ¥ Watch Video Solution J

e (3) "+ (3) "< (3

° Watch Video Solution

64. Find T , if
— X | — = | —
) <G -6)

o Watch Video Solution



https://dl.doubtnut.com/l/_um6C58wz9XrG
https://dl.doubtnut.com/l/_r5Rn1mmGbSJJ
https://dl.doubtnut.com/l/_rhxnNlnweN34

3\’ 2\ *
65. If x = (5) X (g) , find the value

of z 2.

o Watch Video Solution

4\ 7 1\’
66.If r = (E) - (Z) , find the value of

o Watch Video Solution



https://dl.doubtnut.com/l/_AxpytdqJ19Bn
https://dl.doubtnut.com/l/_UO4Kc1jKO70q

67. Find the wvalue of x for which

5% + 5% = 5.

o Watch Video Solution

68. Write the following numbers in standard
form:

(1)0. 4579

(i) 0. 000007

(i11)0. 000000564

(iv) 0. 0000021


https://dl.doubtnut.com/l/_XzvXRHQ3itk3
https://dl.doubtnut.com/l/_bjRjXubNa0hH

(v)216000000
(vi) 0. 0000529 x 10%

(vi)9573 x 10~ *

o Watch Video Solution

69. Express the number appearing in the
following statements in standard form:
1) 1 mi [ | to ——«— ter.
(i) 1 micron is equal to 1000000 Meter
(i) Charge of an electron is

0. 0000000000000000016coulombs.

(iii) Size of a bacteria is 0.0000005 meter.


https://dl.doubtnut.com/l/_bjRjXubNa0hH
https://dl.doubtnut.com/l/_ejDmFDZUrLZ5

(iv) Size of a plant cell is 0.00001275 meter.

(v) Thickness of a normal paper is 0.07 mm.

° Watch Video Solution

70. If the diameter of the Sun is 1.4 x 10%m
and that of Earth is 1.275 x 10*km.Compare

the two.

° Watch Video Solution



https://dl.doubtnut.com/l/_ejDmFDZUrLZ5
https://dl.doubtnut.com/l/_G9EfyyDC6t8v

71. The size of a red blood cell is 0. 000007 m
and the size of a plant cell is 0. 00001275 m.

Compare these two.

o Watch Video Solution

72. Express the following number in standard
form:

() 6020000000000000

(i) 0.0000000000942

(iii) 0.00000000085


https://dl.doubtnut.com/l/_XDA1F3pPclVC
https://dl.doubtnut.com/l/_dpjGoh3aVPEi

(iv) 846 x 107

(v) 3759 x 104
(vi) 0. 00072984

(vii) 0. 000437 x 10?

(viii) 4 < 100000

° Watch Video Solution

73. Write the following numbers in the usual
form: (i)4. 83 x 10
(ii) 3. 02 x 10~°

(iid. 5 x 10%


https://dl.doubtnut.com/l/_dpjGoh3aVPEi
https://dl.doubtnut.com/l/_qFk5ICWnpVI9

(iv)3 x 108
(v)1. 0001 x 10°
(vi) 5. 8 x 10°
(vii)3. 61492 x 10°

(viii) 3.25 x 10~

o Watch Video Solution

74. Choose the correct alternative in each of

—2 2
the following : Square of (—)zs (a)= (b)

3 3
2 4 4

E(C)—g(d)g

o Watch Video Solution



https://dl.doubtnut.com/l/_qFk5ICWnpVI9
https://dl.doubtnut.com/l/_H5550DjXZjD5

75.Cub f_l'l(b)l() 1(d)_1
.Lupe or —18 — — (C) — — _—
2 8 16 8 16

o Watch Video Solution

76. Which of the following is not equal to

-3 4 _34 4 4
(—) 7 @ ) 2 9 2 )

5 54 (_5)4 54
-3 -3 -3 3

X X —
5 5 5 5

o Watch Video Solution



https://dl.doubtnut.com/l/_H5550DjXZjD5
https://dl.doubtnut.com/l/_rAsvRjFEluyr
https://dl.doubtnut.com/l/_JKNWs5Uz1sgh

77. Which of the following is not reciprocal of

9 4 3 4 9 -4 3 —4
5)7(G) o) ©iE) @
34
7

o Watch Video Solution

78. Which of the following numbers is not

—8 2\ 3 2\ °
equal to 2—7? (a)(g) (b) (g) (c)
3 3 3 3

o Watch Video Solution



https://dl.doubtnut.com/l/_aOULeFnr1hfW
https://dl.doubtnut.com/l/_pg3vlYtnsdDB

2 -3 . _9 5 3 5
79. (5) is equal to (a)(T> (b) (5)
2Xx —5 q 2
3 (@) 3 X5

(c)

o Watch Video Solution

~1\° /-1}° —1\°

80. (T) X(T) is equal to (a)(T)
1\ 8 1\® 1\ 1
o (3o (-1

o Watch Video Solution



https://dl.doubtnut.com/l/_nofE2GwVry5h
https://dl.doubtnut.com/l/_56gUU4UVkUat

3 8
81. (_Tl) < (_?1) is equal to (a)
1\5 1\ 1 i 1\5
(—g) (b)(—g) (€ (—5)"(d) (g)

° Watch Video Solution

82 —2\' . (22Y, | t i
(T) _(T> Is equa o(a)2—5()

4 92\ 25
2—5‘C>(T) @7

o Watch Video Solution



https://dl.doubtnut.com/l/_UWc1p2uu8t4F
https://dl.doubtnut.com/l/_xYp7GwcRDqPR

33 1\2 4. | 1\ i 1\8

. (E) is equal to (a)(g) ( )<§>
1\ % 1\ 16

o (5) ©(5)

o Watch Video Solution

1

0
84. (%) is equal to (a)0 (b) 5 (c)1(d) b

° Watch Video Solution



https://dl.doubtnut.com/l/_GQkey5WRlklG
https://dl.doubtnut.com/l/_Q0feXp9PktlS

_3\ 1 2 2 3
85. (T) Is equal to (a)g (b) —3 (c) 5

(d) none of these

o Watch Video Solution

2\ ° /5\ ° | 2
86. (§> x(7) is equal to (a)(gx
5\ 1 2 5\ ° 2 5\ 9
7) ®) (5*7) ( (5*7) () (§
—25

o Watch Video Solution



https://dl.doubtnut.com/l/_LzOsnJm4Y8MN
https://dl.doubtnut.com/l/_vzxKJSmjBK6Y
https://dl.doubtnut.com/l/_m4GQXDGDG49f

3\° . (5)". 3 5\°
87.(2) _(5) |sequalto(a)(27§)
b 3. 5Y 3. 5Y d
(b) (Z—g) (c) Z—g (d)

o Watch Video Solution

88. For any two non-zero rational numbers a
and b, a* = b* is equal to (a)(a%b)1 (b)

(a=1)"()(a=b)"(d)(a+b)°

o Watch Video Solution



https://dl.doubtnut.com/l/_m4GQXDGDG49f
https://dl.doubtnut.com/l/_u2YuEz6obdt3
https://dl.doubtnut.com/l/_qhEcIFc1H6yn

89. For any two rational numbers a and b, a’x
5 . 0 10 5
b° is equal to (a)(ax b) (b) (axb) (c) (axb)

(d) (axb) ™

o Watch Video Solution

90. For a non-zero rational number

7 12

a, a +—a =0

is equal to (a)a® (b) a ™ (¢) a

(d) a9

o Watch Video Solution



https://dl.doubtnut.com/l/_qhEcIFc1H6yn
https://dl.doubtnut.com/l/_1Qzib35fri8O

. —2
91. For a non zero rational numbers a, (a3)

is equal to a® (b)a"%(c)a"?(d)a’

o Watch Video Solution



https://dl.doubtnut.com/l/_fX0FuJFexo11

